AR - BB AR

BB AR

T7B, T6C, T6D, T6E %7

L]
Npdaigeia s b
iy B H L e ko o B - e e ~fg: T7BS-B10-1R00-A1M1 - T6C-025-1R00-C1
1. WEE-B10-1R00-ATMI ..., BT T7BS-B10-1500-ATM1 .........coooooirir, i)
SAE %% T7BS T6C T6D T6E B £t R
N e T7B - = s WA L
2. T7BSLEI-1RO0-ATMA oo TS HAE 4. T7BS-B10-1RMI-AIM1 ..o, WO E
B C D E 5. T7BS-B10-1ROO-LMM1 ..o, ®itg
B02........5.8 | 003...... 10.8 |B14....44.0 |042.... 132.3 6. T7BS-B10-1R00-AfM1 ........................ T
BO3....98005...17.2 |B17...550 |045... 142.4 . :
BO4.. 12.8 |006....213 |B20...66.0 | 050... 1585 Thin sen- _ g
BO5....15.9|008.... 264 |B22...703 |052.... 164.8 BRI 5y B 5
BOS.....19.8 [010....34.1 [B24.... 1.1 057... 1798 7. T7BS-B10-1RO0-A1TE ...oooooc. T
B07...225012....371 |B28...90.0 | 062....196.7 T —
BOB...24.9 |014... 460 |B31...992 |066... 2133 e MRS | UNC 8
B10....31.8|017....583 |B35.. 1134 |072... 227 1 8 =ine - :
B12....41.0|020.....638 |B38...120.6 | 085..... 269.0 P=:u Mo x
B15....50.0 |022....703 |B42..1375 T7BS [S=1mr =2 s d
025...79.3 |045... 1457 = MO 00
028....88.8 | 050...158.0 T80~ (o= 11 P =1 EER K&
031.....100.0 T6D S=2" |[P=1#%" TR T
3. T7BS-B10{RO0O-ATMI ................... P ISR AW X
o g - F B =
wo |@ - @ B [® 2 [®
s




MR - BB AR

’ A A T7B
e = =" = 38.1
7 Y F 82.3
G| 1685
EENCE B N j; 100.000
99.967
; Frjy ‘€} ) i N| 1400
= e e o| 1745
. E:I 2:2 b i @P| 140
=3 e Y Y
kz O/ A Y
v .- T7BS | TeC
- R 9 E 38.1| 38.1
L e = F 823| 823
- - G| 1685 161.6
e J1| 101.60| 101.60
~ = > J2| 101.55| 10155
o L E F N| 1460 146.0
- o| 1745| 1745
M=l T T \ oP 14.3 14.3
CIXK2 — |
Y| L - = E T6D T6E
B A E| 381| 523
= ~r%%fti1—{_—-1~ v F 87.4| 110.0
B T G| 1849| 2253
- J1| 127.00| 127.00
- - [ Ei J2| 126.95| 126.95
N| 1810 181.0
G o] 2124] 2130
o P 17.5 17.5
i el BAHE (N.m) ZH Rt (mm)
T7B |T7BS| T6C | T6D | T6E | L1 L2 HR K1 x K2 H1 M1
-4 SAE B (2922) e | 275 71.4 38.1 |22.225-22200| 6.35x6.30 | 24.95 | M8x16

1 | SF4: SAE C (@31) ® 83.6 49.3 |31.750-31.700 | 7.94x7.89 | 3527 | M10x20
F-4: SAE CC (238) @ 90.9 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 | M10x20
F4: 4k SAE (222) 238 58.2 317 |22225-22200 | 4.76x4.71 | 24.53 -

o | FH:ISOR775 (225) | e 70.0 | 40.0 [24.9935-25.0065| 8.00x7.00 | 28.22 -
P4 4F SAE (@31) 577 73.2 38.1 |[31.750-31.700 | 7.94x7.89 | 35.27 =
SE-4#: 4k SAE (@31) 577 | 61.9 38.1 |31.750-31.700 | 7.94x7.89 | 35.27 2

5 | fE8: SAEB e | 343 407 | 245 SAE J498b 1 4%, #2715 16/32, 13 F -

164 SAE C © © 55.2 38.0 SAE J498b 1 %%, 12745 12/24, 14 F -
v SAE BB ® 2 455 | 245 SAE J498b 1 4%, #2745 16/32, 15 F -

4 | 7¢4: 4F SAE ® 777 48.0 SAE J498b 1 £, 1247 12/24, 14 F -

1£48: SAE CC e 62.2 315 SAE J498b 1 %%, 7275 12/24, 17 & -
s LR~ (mm)
A1 B1 @c1 D1 T1 QgL
s nn R | | o
S 11" 35.8 70.0 38.1 76.2 %"-13UNC x 22.4
o
B - ot 2= | o | m | e
S 1% 35.8 70.0 38.1 76.2 M12 x 22.4
. P 17 26.2 52.4 25.4 76.2 %/"-16UNC x 19.0
S 1% 35.8 70.0 38.1 76.2 %"-13UNC x 22.4
o5 P 1% 30.2 58.7 31.8 82.6 "/16"-14UNC x 22.3
S 2 42.9 77.8 50.8 82.6 %"-13UNC x 23.9
o P 1 %" 35.7 69.8 37.1 98.6 %"-13UNC x 23.4
S a8’ 61.9 106.4 75.0 98.6 %/5"-11UNC x 24.0

2-16




	CCF20100916_00000.jpg
	CCF20100916_00007.jpg

